Geometric Sequence Day 5 Notes
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l. A geometric sequence has a common ratio, or multiplier, between the terms: ol
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To calculate the ratio, r, divide a term by the previous term.
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Il. The formula for the general term (tn) is: ,
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Il Sample problems: &

1. Inthe sequence 6, -3, %, 3 () ("D -5
'To\' lox (.925%x\O

a) Calculate the common ratio b) The 11*" term is? _ 7
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2. Bacteria cafy double by)cell division every 20 minutes. If 10 bacteria cells were present

at the back of your throat at the start, how many will there be in 5 hours?
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